Rr(A) = R())/0,18 relative reflection
Ostwaldcolour: green G,A1=470 A,=570 A¢=520
triangle lightness:

23
Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: cyan C,A1=400 ;=570 ,Aq=495
Re(A) triangle lightness:
6,00

Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: yellow Y, =495 A>=700 ,

Rr(\) triangle lightness:
6,00
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Chas, \2 +B2

Narme and spectral rangas,
Rm570_770  ,520_770
G 470_570 G, 380_570
Br 380520 M, 570_470

6 optimal colours (0) Y,y=90, Yy=3,6
6 of maximum (m) Cyg for AOO
in chromatic value diagram (A, By)

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: blue B,1:=400 \,=495 \¢=470

Rr(A) triangle lightness:
6,0042.999_ _

Rr(A) = R())/0,18 relative reflection

Ostwaldcolour: red R, A:=570 \>=700 \¢=595
triangle lightness:
6,00

Rr(A) = R(A)/0,18 relative reflection

Ostwaldcolour: magenta M, ;=570 ,A;=470 ,A¢=520c
triangle lightness: T,
6,00

eez6z-6a
without N reflection
standard reflection
0,036<=R(A)<=0,900
relative reflection
R:(\)=R(A)/0,18
T*rug=40logR:(A)]/log5




